Case Study 1 – Developing an logic framework
Country X has reached WHO targets for case detection with a rate of 74 percent and treatment success rate of 87 percent.  However, the government is going to implement a decentralization plan for the entire health sector.  The Minister of Health has asked the NTP to submit a plan for accomplishing these same targets under the new organization of the health system.  Before decentralization, NTP provided support to district offices, for example, purchasing and distributing anti-TB drugs, laboratory materials, recording and reporting forms and providing supervision and technical assistance to implement DOTS.  Now, district coordinators must take on all planning, financing, implementation and supervision tasks previously handled by the NTP.  There is a lack of technical expertise in key areas of the DOTS strategy that will make decentralization to the district level a challenge for the NTP.  For example, district coordinators do not have the skills for managing drug supply.  
Develop a logic framework using the terminology and concepts presented earlier today that shows how districts will maintain the same level of achievement for the DOTS program. 
Hint: Think about the capacity that will be needed at the district level to maintain the current program achievements in case detection and treatment success.

Instructions:

1. Read through the case study with your assigned group

2. Identify the goal, objectives and activities for addressing this problem and list them on form 1.  Then use the logic model on form 1 to identify key inputs, processes, outputs and outcomes.  
3. Each group will report back to the larger group on the draft framework/activity.     
